& B2

B #
(&
THUIE N A =i




B1R WERARETEHE

EA
= 5 BER 5 T
18#EE 0 0 0
188 0 0 0
2B 462,600 0 462,600
1#5B & 462,600 0 462,600
SR 329 0 329
1#EE 329 0 329
4FEIRA 0 9 9
1EEUXA 0 2 2
mASE 462,929 M 2/ 462,931 M
et
= R FHIERT = fHIE%E - WIEtR
TEER 462,600 A 107,886 354,714
1288 252,000 A 73,500 178,500
2EHKH 210,600 A 34,386 176,214
2EXE 0 0 0
1EXE 0 0 0
SEiiE 0 107,886 107,886
1= & 0 107,886 107,886
AT 329 2 331
1FEE 329 2 331
mHaEt 462,929 M 2 [ 462,931 M




SHTEE BBEbHEARSESSRARLETSHEE (B35

(BfL:F)
& %
wmE B AER REE AL il
1 AjEd 0 0 0
1 mEe o 0 0
1 fiEs 0 0 0
1 AEE 0 0 0
2 whe ' 462,600 0 462,600
1 @& 462,600 0 462,600
1 Hhe 462,600 0 462,600
1 EEHENE , 0 0 0
2 WEANS 462,600 0 462,600| G FAATES
3 #Zus | 329 0 329
1 iR 329 0 329
1 BHE 329 0 329
1 BIEERESE 329 0 329
4 WA 0 2 2
1 FIXA : 0 2 2
1 A 0 2 2
1 HERF 0 2 2|RITRIE
a & 462,929 2 462,931




SHTEE OBDHEARCERRREAETE5EE 55
| ()
%A B o B IERT fﬁIE:EE HIER %
1 EER 462,600 A 107,886 354,714
1 SBE 210,000 A 73,500 136,500
1 £BE 210,000 A 75,500 136,500
1 REN 210,000 A 73,500 136,500
2 £HE 252,600 A 34,386 218,214
1 EBE 252,600 A34,536 218,214
9 k& 0 0 0
11 FRE 210,600 0 210,600 ENRI %
12 RHBE 42,000 A 34,386 7,614|7 > —h8hik
(18 EEmBAE 0 0 0
2 BER 0 0 0
1 BXE8 0 0 0
1 BXE 0 0 0
13 H&FEEH 0 0 0
19 8EE, 0 0
MEERURMNE
3 #EXxt® 0 107,886 107,886
1 EfE 0 107,886 107,886
1 EffE 0 107,886 107,886|
5?’%“ ﬁﬁf HFR 0 107,886 107,886 BB S EES




(M)

*|R|H & R fmz;; R i
4 THE 329 331
1 FHE 329 331
1 FiRE 329 331
1 FiRE 329 331
é; 462,929 462,931




